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He permitted spraying in M’chuzoh - XTITa Ixmor ROR

Overview

Tn°nR permitted X127 in the city of X1y, saying the reason that X177 is prohibited
(132777) is out of concern that one may smooth out the holes in the ground (a 7770
of 12), however this concern is not applicable to Xnnn, since all the floors are
covered with stone (there are no earthen floors).

mooin asks:
= 2N2YA 1IVYN T3 DININYYNI 1IN (x,70 97 0w) VNI 909 SND2WaT NN

It is astounding, for in the end of vnw 7°»n P75 the mwn stated, “as it was done

(the oo 127p) in the weekdays, so too was it done on naw -
— D950 ¥ NIV 379190 NN DN DIININY NON

However the 2°17712 would rinse out the 7797¥ (on N2¥) not in accordance with the

wishes of the 29251, This concludes the mwn -
= HTYITN 29 )I¥92 NDY 13991 DI9N 1IN NOYT N9 W9

And the X223 explained that when the mawn stated it was 29251 11392 X5@ it meant

not according to the wishes of X' (of our X3 that ya7» is 27n) -
= 55915 N2917) 729190 NINT WTPNA MAY PN NN MAVY 1329 INY

For if it meant the 3129, but they maintain that y12>7 is only a n1aw and since there
is no Maw prohibition in the w7p»a nN°2 (it cannot be 5 %12 ROW), as we learnt

in a Xn»13, ‘one who sweeps and one who sprays, etc.” This concludes the citation of

that X773, MdoIN continues with his question —
= 989 NIINT N1V 1PPAN RNIIINTH 29NNT YNIYN TYIIN 2290 PNINND YPINTI

And since the X713 in 2’1105 established that ;11w according to X''9, this indicates

that one is n''71% 29917 for ¥12°7 even in the 77tY where there is a stone floor -
= 551939) YN NIPD NAN92T YIYN NN

'’m771 is the act of spraying water on the floor to settle the dust, so that it should not rise.

2 If noo 27w (the time designated for bringing the 1od 127p) occurred on a Naw they would bring it on Naw, in the same

manner as they did when 5"y occurred on a weekday.

3 The a7ty was full of the blood from the many ros Miap, so they washed the floor of the 771v.

4x,10.

5> The ®7na there cited the X012 in our X3 where there is a np1?ma between X"1 (who maintains that ya7n is 2°°17) and

the 1127 (who maintain that it is only a maw).

6 Clarification; maon taught us previously (720%7 71"7) that the np2nn between 05m X" regarding 712°7 is that X"

maintains that it is a 7"°05 and therefore n"nn MOR, while the 0°»21 maintain that it is not a 7"05 and is M2aw ayvn MoK

(because they follow > that P15nn PRW 927 is 132772 TOR). MR who permitted Xn?°T maintains that there is no

problem at all (even if we follow *"1 [regarding m>nn °KX]) since in 817 there can be no N MR for the floor is

covered with stones (and there certainly cannot be a nXvr 211 even according to X" since no 79877 is being done).
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However here it seems from the ruling of °2°nX that by stone floors there is no
concern of filling the holes (N33 »MWR)!

nB0IN answers:
= 742599 7259 1AW MHNNN MIININNN PNY 290 NI MNYN XI'NX NNTHAT 99D v

And one can say that by washing there is a greater possibility of nym »mwy,
than by 712>, for the water filled the grooves between the rows of the floor tiles —

nooIn offers an alternate solution:
= 7MAY DIWN NIN TIHN 2299 9ION KDY 993 N91ya 89133 ON

Or one may also say that even in the 791¥ washing is not prohibited according to

X'' (0", but rather) only because it is a naw -
- 9TIUN 2290 NINLN 2PN RIINT NN NIT NI ION

On account of a situation where there is no stone floor in which case there is a

NNYI 2931 according to R''1 -
= VPN I1DAN AN MAVY IND 991IN)

And this n2w is more stringent than other 2°M2w and it applies even in the w7p»
- (3,37 97) 17217 NN PI92 YIPN JNIYN MY 1199)

And we find many types of M2 in the w7pn in the last 92 of 1219w noon -
- 19297 NOON NIN INT21Y 97 NY D989 N9 19ONT 1199 MY OND 90N XY 1929 Yan

However according to the 3339 this maw of 12°7 is not that stringent, for even

without a floor it is merely an 31397 "9%%°R according to the 0217 -
$WTP1N2 1979 199N 7990

Therefore it does not apply in the wpn.

However from the X3 in 0°109 it is evident that in the 777v there would be an Rn»71R7 MOk according to &1 (and
[were it not in the p"»7°2] there would be a maw according to the a°»or). This proves there is some sort of N »NMWR
(either a 205 according to X" or no 1"0d according to the 0°»5m) even by a stone floor.
" moon answer is that if there is only spraying there is no N »wx by a stone floor (for there is a limited amount of
water) and it will not smooth out the grooves between the tile rows. However when the floor is being washed with a
lot of water; the water will fill in the grooves between the tiles by depositing there dust and silt that is acquired in the
washing process. According to X" this N MWK by a stone floor when washing is a 7"°09 (therefore it is 11%72 X>w
amd1), and according to the 7127 it is not a 1" 0y, therefore it is "N, since WK N2V K.
8 moon may not be totally satisfied with the first answer; either because it is unlikely that even with washing there
would actually be N »nw, or if it is an n"n No°X why does the m1wn state that it was done 0217 11812 RoW (meaning
X"7); if it is n"nAn MoX the onon would have prevented it.
% The difficulty with the *»1 X is apparent, for from the X723 it seems clearly that according to X" it is n";7m MOK, not
M2w avwvn, as the X7 states that it is not according to the o°»on, for they say it is a N12w and wW7pna 12w X!
10 The second answer does not differentiate between spraying and washing. However by a dirt floor since it is 0K
n"mn according to X", therefore there is a 71mm M2w even by a stone floor, so it applies even wTpn2, however according
to the 7127 there is never an n"in Mo°R therefore it is not a M Maw and does not apply in the wpn. See ‘Thinking it
over’.
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Summary
There is no N3 MWK by stone floors when spraying (according to the 3127), but

there can be N1 ™K (according to the 1127 [and will be according to X"7]) when
washing the stone floors. Alternately there is no difference between spraying and
washing, however by a stone floor it is a 711 M2w according to &"9, which is MoK
even Wpna.

Thinking it over

mooIn writes that according to the 7327 this is not such a stringent M2w therefore it
does not apply in the w7pn;!! indicating that outside the wpn it would be 2Wwn O
maw even by a stone floor; however m°nR permitted Xnmna Xn2°1 (because it had
stone floors). How can we reconcile this mpo1n with our x3?!12

1 See footnote # 10.
12 See 187 R"wI.
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